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Ed=<1.75Cp 9P (Bd—1. 5Cp)x2. 30 1xQuxUp/1000

Yo 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+

<
o |1 Top<Bd=2Cp| 3. 03Up |5 950 o0 904 (Bd—1. 75Cp)x3. 03 JxQwxUp/1000

T2 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+

6 ch2<5%(1 = AUp |0, 25Cpx2. 30 + 0. 25Cpx3. 03 + (Ed— 2Cp)
- OLD x4 xQwxUp/1000
Yo =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+
7| 2 5Cp3§pEd = | 5.29Up (0. 25Cpx2. 30+0. 25Cpx3. 03 +0. 5Cpxd + (Ed—

2. 5Cp)x5. 29 1xQw xUp/1000

Yo =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+
8 3Cp < Ed TUp 0. 25Cpx2. 30+0. 25Cpx3. 03+ 0. 5Cpx4 +
0. 5Cpxb. 29+ (Ed—3Cp) xT IxQwxUp/1000

s Qw=" % B ¥ 8Bk ()
Ed=3%30 7% 44 * = 3% 2 K i (ng/L)
Cp=3%2981% 4 2 T K-k F iR (ng/L)
Up=327 75 4 2 e ff ¥ i (= /ke)



+

2z 27 oREA BT A (e R pH)

AN S bk B /),&753 & }\%‘u},,&»}ié’vﬁg AES
1 Cpe=pH=Cpu 0Up ’I{;F{’ =
%: pH<T. 0 1Up
2 ik 1z % =QwxUp
pH>10.0 1Up
1 Cp.=pH=Cpu 0Up e =0
42
i pH<2.0 1Up
2 i 1z % =QwxUp
pH>4.0 1Up
1 i Cpe=pH=Cpx 0Up 27 =0
% pH<4.0 1Up
2 1z % =QwxUp
2 pH>10.0 1Up
T Qw=" 2 B AaE Ak E (n)

(o= "TiE T 12

Cpi=i& i 'L iE 12

Up=3%3E i3 44 2 fc 3 H § =100~ /n’




hzz A Lok EAET A (B4 R)

b B Edd R AN & R BT 3 a5
1 Ed=Cp 0Up Yo7 =0
2 Cp<Ed=1.5Cp 1Up 1z 7 =QwxUp
3 1.5Cp<Ed = 3Cp 3Up 1z 7 =QwxUpx3
4 3Cp<Ed HUp 1 7 =QwxUpxd

] i Qw="2 2 B ¥ iAok ERE (n)
Bd=3%30 5 40 % = ez k(R E =)
Cp=3%7i5 42 TR TS (m H )

Up=100=~/m’
HEio SRk L AR (0D S5 AR K Rk T8 R R T KK
’F.‘rvfﬁﬁi"ér‘diz\ :NZ\V:i;;—%—,ﬂ@ 2 % R LN A
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%E_—L— J('E_Av\ 5&%}1’ I~
2 k& (CMD) o k& & Bz p 3ty ot
1 Wg=Q 10g |1z % =WaxUgxA
2 Q<Wg=2Q 1.25Uq =% =[Q+ (Wg—Q) x1. 25 ]xUgxA
3 20<Wg=4Q 1.550q 1= % =[Q+1.25Q+ (Wg—2Q) x1. 55 ]xUqgxA
Yo =[Q+1. 25Q+2x1.55Q+ (Wq—4Q)
<
4 4Q0<Wg=8Q 1. 93Uq 1. 93]xUax
o7 =[Q+1. 25Q+2x1. 55Q+4x1. 93Q+ (Wgq—
<
5 8Q<Wq=16Q 2. 41Uq 80) x2. 41 xUaxA
o
6 160<q 30 o7 =[Q+1. 25Q+2x1. 55Q+4x1. 93Q+

8x2. 41Q+ (Wg—16Q) x3 IxUgxA

iWg="2 = 5 =0 fACRE TS

Ug="k& & § (Z/N)

(CMD/ =% )

O=2 £ F % ¥ = ## Ak % (CMD/ 2 %)

A=% = 2 E G H(2F)




w2 = ~oREAEE F4 (COD-SS)

A R (mg/L) | A BF RN o o A
B &
| Ed=Cp 1Up |4z 7 =EdxQwxUp/1000
2 | Cp<Ed=1.25Cp | 1.32Up |4 % =[Cp+ (Ed—Cp)x1. 32 ]xQwxUp/1000
9 1. 25Cp< 1740 Yo 7 =[Cp+0. 25Cpx1. 32+ (Ed —
Ed=1.5Cp ' P 1. 25Cp)x1. 74 1xQwxUp/1000
4 1.5Cp< 5 300 e ¥ =[Cp+0. 25Cpx1. 32+0. 25Cpx1. 74+ (Ed
Ed=<1. 75Cp - OULP —1. 5Cp)x2. 3 1xQwxUp/1000
Yo =[Cp+0. 25Cpx1. 32+0. 25Cpx1. T4+
<
o | Lot <kd=2Lp| 3.03Up |5 oo 0 90 4 (Bd—1. 75Cp)x3. 03 xQuxdp/1000
Yo =[Cp+0. 25Cpx1. 32+0. 25Cpx1. T4+
6 | 2Cp<Ed=2.5Cp | 4Up |0.25Cpx2.30+0.25Cpx3. 03+ (Ed—
2Cp)x4 1xQwxUp/1000
Tz % =[Cp+0. 25Cpx1. 32+ 0. 25Cpx1. T4+
7T | 2.5Cp<Ed=3Cp | 5.29Up |0. 25Cpx2. 30+0. 25Cpx3. 03+ 0. 5Cpx4 + (Ed —
2. 5Cp)x5. 29 1xQwxUp/1000
Tz % =[Cp+0. 25Cpx1. 32+0. 25Cpx1. 74+
8 3Cp<Ed TUp 0. 25Cpx2. 30+ 0. 25Cpx3. 03+0. 5Cpx4 +

0. 5Cpx5. 29+ (Ed —3Cp)xT IxQwxUp/1000

QU= S A TOOR RS B Ak ()
Ed=3%38 35 %40 % = 322 -k F (ng/L)
Cp=3%2981% 4 2 T K-k iR (ng/L)

Up=3%7 73 4 2 fc § H § (< /kg)




hwiz kAR EL (££B)
B jE KB (mg/L) N fo % s 3B o
| Ed<Lqg 0Up o =0
2 Lg<Ed=Cp 0.5Up 1= % =[(Ed—Lq)x0.5]xQwxUp/1000
RBFEZ BB ECORETRER BT KRR
3 Cp<Ed Yo N (B HoR Rl R F Yy Nt
BE |Hko
BEEZ fTf S R
Al RF (mg/L) 2N i NS R G S
1 Cp<Ed=1. 25Cp 1.32U0p |4z % =[(Ed—Cp)x1. 32 xQwxUp/1000
Yo =1[0.25 Cpx1.32+ (Ed -
2 | 1.25Cp<Ed=1.5Cp | 1.74Up 1. 25Cp) x1. 741xQwxUp/1000
Yz 3 =1[0. 25Cpx1. 3240. 25Cpx1. 74+
3 | 1.5Cp<Ed=1.75Cp | 2.30Up (Ed—1. 5Cp)x2. 30 1xQuxUp/ 1000
Yo 3 =1[0. 25Cpx1. 3240. 25Cpx1. 74+
4 1. 75Cp<Ed=2Cp 3.03Up 0. 25Cpx2. 30+ (Ed—
1. 75Cp)x3. 03 1xQwxUp/1000
Y27 =[0. 25Cpx1. 32+0. 25Cpx1. T4+
5 20p<Ed= 2.5Cp 4Up 0. 25Cpx2. 3040. 25Cpx3. 03+ (Ed—
2Cp)x4 1xQwxUp/1000
Y27 =[0. 25Cpx1. 32+0. 25Cpx1. T4+
6 | 2.5Cp < Ed = 3Cp | 5.29Up |0.25Cpx2. 30+0. 25Cpx3. 03+0. 5Cpx4
+ (Ed—2. 5Cp)xb. 29 1xQw xUp/1000
Yo7 =[0.25Cpx1. 32+0. 25Cpx1. T4+
7 3Cp < Ed TUp 0. 25Cpx2. 304+ 0. 25Cpx3. 034 0. 5Cpx4

+0. 5Cpxb. 29+ (Ed—3Cp)
X7 ]xQwxUp/1000

-\
|

Lq—fzx

LiQu=t SR AT RKFREEAR ¥ E AR KR T
875 R dr 2Kk R R (mg/L)

(m”)

Cp=3%70 73 % 4= 2. T -k -k 128 (mg/L)
BAd=3%37 15 4 ¥ %2k (ng/L)
Up=3%31 5 4 2 fc ¥ (= /ke)




Zwzw loREFLABEFA (R PARIED)
A | kE (mg/L) NN RN o o A
1 Ed=Cp Wp |fe3 =0
2 | Cp<Ed=1.25Cp | 1.32Up |4 % = [Cpx0+ (Ed—Cp)x1. 321xQuxUp/1000
9 1.25Cp< 1740 o =[Cpx0+0. 25Cpx1. 32+ (Ed—1. 25Cp)
Ed=<1.5Cp - D1 T4 ]xQuxUp/1000
. 1.5Cp< 3 300, |7 =[Cox0-+0. 25Cpx1. 32-+0. 25Cpx1. 74+
Ed=<1. 75Cp -9V (Bd— 1. 5Cp)x2. 30 1xQuxUp/1000
Yo 7 =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+
<
o |1 Top<Bd=2Cp| 3. 03Up |5 950 o0 904 (Bd—1. 75Cp)x3. 03 JxQwxUp/1000
#e % =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. T4+
6 ch2<5%(1 = | 4Up 0. 25Cpx2. 30 + 0.25Cpx3. 03 + (Ed— 2Cp)
- OLD x4 xQwxUp/1000
Yo =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+
7| 2 5Cp3§ Ed = |5 9gup (0. 25Cpx2. 300, 25Cpx3. 030, 5Cpxd 4 (Ed—
D 2. 5Cp)x5. 29 1xQw xUp/1000
Yo =[Cpx0+0. 25Cpx1. 32+0. 25Cpx1. 74+
8 3Cp < Ed TUp  |0. 25Cpx2. 30+ 0. 25Cpx3. 03 + 0. 5Cpxd +

0. 5Cpxb. 29+ (Ed—3Cp) xT IxQwxUp/1000

EiQu=r 5B F AR ()
BAd=3%3075 7 = ek (ng/L)
Cp=3%3%5 L4 2 T -k -k F 528 (mg/L)
Up=3%71 75 % 4 2 fc }  § (= /ke)




w2

-
a

Dok A B S % (phik A pH)

A e #e B PN I KB A Bt 3-8 a5
1 Cp.=pH=Cpr 0Up Yo7 =0
%: pH<T. 0 1Up
9 & 1z 7 =QwxUp
pH>10.0 1Up
1 Cp.=pH=Cpu 0Up Yo g =0
42
i pH<2.0 1Up
9 & 1z 5 =QwxUp
pH>4.0 1Up
1 i Cpe=pH=Cpx 0Up o3 =0
% pH<4.0 1Up
2 Yo 5 =QwxUp
2 pH>10.0 1Up
T Qw=" 2 B AaE Ak E (n)

Cp= i L i ™ 12

Cpi= &' + 72

Up=3%3E i3 44 2 fc 3 H § =100~ /n’




fwoa L okFABRPEL (B4R
- B Ed 4R AN & AN BN
1 Ed=Cp 0Up Yo7 =0
2 Cp<Ed=1.5Cp 1Up 1z 7 =QwxUp
3 1.5Cp<Ed = 3Cp 3Up 1z 7 =QwxUpx3
4 3Cp<Ed 5Up 1 7 =QwxUpxd
] Qw=" 2 B A ARACkE g (n')

Bd=3%775 44 % # g k(R E )
Cp=3%M A b2 T ok FHRE(RE )

Up=100~/m’

= J\’Fﬁg
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%3 AEFEFEBHEA LRI sk F ey AAE G 2
s £ & B0 H 1 3T
5 K i ,K;&L ¢, e | L 23 3 I DU U -3 F S T2 P R
2 SRR COD | SS | pH T A | g\ | s | s R D B F R R | T | e
(CMD) | =/ | (=/Ke) | (=/Ke) | (=/m3) (2/ke) | (=) |(= /)| (/) |2/ | (= /K (/K| (= k| 8B | (k)| (2 | oy | B E | C2 B))VTELT ke | (2 k) | (2 /ke)
(=/n3) (=/Kg) (=/kg)| (~/Kg) &
£Z  [5,000 0.67 |# fcy |45.90 | 100 | 100 | 39,500 | 7,900 | 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1.580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1, 000
T 500 36.45 [299.43[211.36] 100 | 100 | 39,500 | 7.900 | 1,580 | 790 | 790 | 790 | 790 | 1,580 790 |1,580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
4 5000 13,98 46.77 [ 44.96 | 100 | 100 | 39,500 | 7,900 | 1,580 790 | 790 | 790 | 790 |1.580| 790 |1.580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
CAE 3,500 [7.61]89.33 [150.47| 100 | 100 | 39,500 | 7,900 | 1,580 790 | 790 | 790 | 790 |1.580| 790 |1.580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
g 12,500 [0.44 42.96 | 80.57 | 100 | 100 | 39,500 | 7,900 | 1,580 790 | 790 | 790 | 790 |1.580| 790 |1.580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
1% [18,000 [1.92]12.63 | 34.88 | 100 | 100 | 39,500 | 7,900 | 1,580 790 | 790 | 790 | 790 |1.580| 790 |1.580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
#0 |16, 000 [0.26 | 22.38 | 94.77 | 100 | 100 | 39,500 | 7,900 | 1,580 790 | 790 | 790 | 790 |1.580| 790 |1.580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
P % [3, 547 0.21 |43.12 | 84.61 | 100 | 100 | 39,500 | 7,900 | 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1, 000
<H [28,000 [1.59| 19.41 | 68.51 | 100 | 100 | 39,500 | 7,900 | 1,580 790 | 790 | 790 | 790 |1.580| 790 |1.580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
T 35,100 6.18 | 20.46 | 93.09 | 100 | 100 | 39,500 | 7,900 | 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1, 000
<0 g (11,000 1837 45.48 [151.20| 100 | 100 | 39,500 | 7,900 |1,580| 790 | 790 | 790 | 790 |1.580| 790 |1.580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
5 |20, 000 6.87 | 15.11 | 52.83 | 100 | 100 | 39,500 | 7,900 | 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1, 000
it |y 816,63 | 64.54 | 91.12 | 100 | 100 | 39,500 | 7,900 1,580 | 790 | 790 | 790 | 790 [1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
111&57 1
- sk 0| 3610 | 46.69 | 45.24 | 100 | 100 | 39,500 | 7,900 {1,580 | 790 | 790 | 790 | 790 |1,580 | 790 |1,580 | 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000
LRI i
- 112#57 1
e sk 0| 45,69 | 59.09 | 57.25 | 100 | 100 | 39,500 | 7,900 {1,580 | 790 | 790 | 790 | 790 |1,580 | 790 |1,580 | 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000
4= 804 p
195217 56,40 | 72.95 | 70.68 | 100 | 100 | 39,500 | 7,900 | 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000
&
B - e 16.49 | 64.54 | 91.12 | 100 | 100 | 39,500 | 7,900 1,580 790 | 790 | 790 | 790 [1,580| 790 |1,580| 7900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000
3 55 0k
TR
B e 56.40 | 72.95 | 70.68 | 100 | 100 | 39,500 | 7,900 {1,580 790 | 790 | 790 | 790 |1,580| 790 | 1,580 | 7900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 1,000
4Rk
TR
B e 16.49 | 64.54 | 91.12 | 100 | 100 | 39,500 | 7,900 1,580 790 | 790 | 790 | 790 [1,580| 790 |1,580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000
3 3815k
§5 s |8, 000 17.57| 64.54 | 91.12 | 100 | 100 | 39,500 | 7,900 1,580 790 | 790 | 790 | 790 [1,580| 790 |1,580| 7900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000
5§ [16,000 12.65 | 41.37 [146.23] 100 | 100 | 39,500 | 7,900 | 1,580 790 | 790 | 790 | 790 |1.580| 790 |1.580] 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |L,000
27 71, 000 17.45|79.13 | 76.28 | 100 | 100 | 39,500 | 7,900 | 1,580 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000
e TR 50,48 | 96.89 |101.07) 100 | 100 | 39,500 | 7,900 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 1,000
az 12,000 9.93 | 50.30 (133,14 100 | 100 | 39,500 | 7,900 | 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1.580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1, 000
£+ [2.500 1315 | 44.65 | 51,03 | 100 | 100 | 39,500 | 7,900 | 1,580 790 | 790 | 790 | 790 |1.580| 790 |1.580| 7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |I,000
sy [11,000 | 12.58[28.03(50.22 | 100 | 100 | 39,500 | 7,900 [1,580| 790 | 790 | 790 | 790 [1,580| 790 |1,580|7.900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 1,000




Ta  [10,000 9.73 [29.40 [86.46 | 100 | 100 [ 39,500 7,900 [ 1,580 790 | 790 | 790 | 790 [1,580] 790 [1,5807] 7,900 | 305 | 305 [ 1,000 [ 1,000 [ 1,000 1,000 |1, 000
B 4, 400 9.72 [ 25.77[63.11] 100 | 100 | 39,500 | 7,900 [ 1,580 790 | 790 | 790 | 790 [1,580| 790 [1,580] 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 ] 1,000 | 1,000
L a 28, 000 19.74 | 43.87 [82.26 | 100 | 100 [ 39,500 | 7,900 [1,580| 790 | 790 | 790 | 790 [1,580| 790 [1,580] 7,900 [ 305 | 305 | 1,000 | 1,000 | 1,000 1,000 |1, 000
% T 7,000 8.45 | 18.63[35.41 ] 100 | 100 [ 39,500 ] 7,900 [ 1,580 790 | 790 | 790 | 790 [1,580] 790 [1,580] 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 | 1,000
AT 5, 263 9.78 [42.931123.38] 100 | 100 [ 39,500 ] 7,900 [ 1,580 790 | 790 | 790 | 790 [1,580] 790 [1,580] 7,900 | 305 | 305 | 1,000 | 1,000 [ 1,000 1,000 |1, 000
Bl 400 30.23 | 78.72 [189.59] 100 | 100 [ 39,500 | 7,900 [ 1,580 790 | 790 | 790 | 790 [1,580] 790 [1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
A2z P s (84,000 3. 36 2»13:*};‘3 xqi;‘: 2»13:*};‘3 2»13:*};‘3 xqi;‘: %1'{%’3 %1'{%’3 7»»]&:??’3 7»»]&:??’3 7»»]&:??’3 %1'{%’3 11’1%‘3 z»]’(%‘: z»]’(%‘: z»]’(%‘: z»]’(%‘: z»]’(%‘: 7»‘13:%“{ 7»»]3:%‘3 7»»]3:%‘3 7»‘13:%“{ 7»‘13:%“{
H 108, 000 3.14 [20.22 [47.14] 100 | 100 [ 39,500 7,900 [ 1,580 790 | 790 | 790 | 790 |1,580| 790 1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 |1, 000
Tiis 40, 000 6.30 | 62.44 [88.15| 100 | 100 [ 39,500 | 7,900 [ 1,580 790 | 790 | 790 | 790 |1,580| 790 1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 |1, 000
X g 30, 000 9.48 [ 42.25[57.56 | 100 | 100 [ 39,500 | 7,900 [ 1,580 790 | 790 | 790 | 790 |1,580| 790 1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 |1, 000
B % 8,000 17.63 | 41.02 [ 80.40 | 100 | 100 | 39,500 | 7,900 [1,580| 790 | 790 | 790 | 790 |1,580| 790 [1,580] 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 | 1,000
poy 5, 600 11.46 | 79.89 [225.56] 100 | 100 | 39,500 | 7,900 (1,580 790 | 790 | 790 | 790 [1,580| 790 [1,580] 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 | 1,000
v 1= 600 35.31 |24 % |2 4<% | 100 | 100 | 39,500 | 7,900 [1,580| 790 | 790 | 790 | 790 [1,580| 790 |[1,580] 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 |1,000
W 110& [ 23.37(92.06|94.77| 100 | 100 | 39,500 | 7,900 |1,580| 790 | 790 | 790 | 790 [1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000
7 6, 000 -

}“ *195.24 1 99.68 [102.63] 100 | 100 | 39,500 | 7,900 |1,580| 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
P 56, 000 7.87 | 19.4375.82 ] 100 | 100 [ 39,500 7,900 [ 1,580 790 | 790 | 790 | 790 |1,580| 790 1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 |1, 000
T 4E 28,000 7.05 | 24.29193.53 ] 100 | 100 [ 39,500 | 7,900 [ 1,580 790 | 790 | 790 | 790 |1,580| 790 1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 |1, 000
37 51, 500 7.89 [29.24 [87.50 | 100 | 100 [ 39,500 | 7,900 [ 1,580 790 | 790 | 790 | 790 |1,580| 790 1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 |1, 000
<7 6, 000 13.37 [ 52.66 | 49.56 | 100 | 100 | 39,500 | 7,900 (1,580 790 | 790 | 790 | 790 |1,580| 790 [1,580] 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 | 1,000
N 16, 000 9.42 [ 27.8376.07 | 100 | 100 | 39,500 | 7,900 [ 1,580 790 | 790 | 790 | 790 |1,580| 790 1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000
535 12, 000 11.37131.35 [ 54.79 | 100 | 100 | 39,500 | 7,900 [1,580| 790 | 790 | 790 | 790 |1,580| 790 [1,580] 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1, 000
ALER B AR (350 45.00 |24z % |22 % | AR |24 | 22 ® | A2 R AR | AU F | FRF|FRF(FIRF|FIRF | AE (PR F | AR | AT | FRF| AR | A e R | A | A | F R
g 14, 500 9.72 [ 22.83132.23 ] 100 | 100 [ 39,500 7,900 [ 1,580 790 | 790 | 790 | 790 |1,580| 790 1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 1,000 |1, 000
“EF (20,000 31.47191.89[96.07 | 100 | 100 [ 39,500 | 7,900 [ 1,580 790 | 790 | 790 | 790 [1,580] 790 [1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000

922, 600 7.44 | 16.50 [ 25.00 | 100 | 100 | 39,500 | 7,900 | 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1, 000

112 & 77 1

sz 7.80 | 17.40 | 26.30 | 100 | 100 | 39,500 | 7,900 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000

g P
XAk

113&# 7% 1

22’600550114&6 8.20 |18.30 |27.70 | 100 | 100 | 39,500 | 7,900 {1,580 | 790 | 790 | 790 | 790 [1,580| 790 {1,580 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000

1 P

eIl 8,60 | 19.30 [ 29.10 | 100 | 100 | 39,500 | 7,900 | 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 |1,000
B % 1,200 99.92 | 62.86 | 84.45| 100 | 100 [ 39,500 | 7,900 | 1,580 | 790 | 790 | 790 | 790 |1,580| 790 |1,580| 7,900 | 305 | 305 | 1,000 | 1,000 | 1,000 | 1,000 | 1,000




